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JU»‘é:-.,liu/):_ufu:}béér:&bédlr 744802 -LUZZ,: DsCBA @L'ﬁj/kéd’)’ 7| Ay
..(nn"ﬂvlﬁufldou“;i.ff'/ ..‘«U!._Lf{fu:/’bupc._ug -Ees A e NSNS Iy Sl 1
D C B A Questions / =iy A
TG I ) N D) S BT TS AT AL @I x-1,y+ )=0,0 /) ||
! : f(x-1,y+1)=(0,0), then (x, y) is: !
F 1 0 9 :q_J#’G(}}(‘A((I L 1)1 (0,0) 58 2 'I
- Distance between points (0, 0) and (1, 1) is:
4 3 2 1 -c".l:‘n,:;lﬂly'l?_____' J/u.f_’ui’:".{l 3
A triangle has only right angle.
Uil Lué’;ib&éﬂ{uﬁﬁbﬂhwdﬂ?
5 4 3 2 The bisectors of YL e
angles on t ides of
parallelogram C er at right angle.
! e At LN 41 o e
j 5 2 4 3 Bisecti gﬁs to divide into _equal 5
i ‘ pats; |
| b Lol ; .b)"r‘f - ‘ -‘u_jl%f_____ }(d/J/_Ju;.‘J” 6 ;
! Mode Mean | Concurrent Propoﬁ% tality of two ratios is called: i
! 2> DK Lk Sl = .;/Kjufé‘ﬁ }
1‘ S = U The triangular region area = area of (7 '
l O bouidary line interior of triangle. 1
i S5 o . b i/ J&/’Ju»{‘;}écuhmd}.l;" j
f . a The diagonals of a parallelogram _each 8 |
| Parallel Bisect | Kt icular|  Trisect |other. |
! ’ y [g _:]3 _;] :‘g,_:/lf;x,/'n}z:.,/'w |
2y 3-by-3 2/6y.3 3eby-2 s 3 o |9
; ' The order of;tigig\pose of l:o : _3] is:
i I P -a',"'f{‘n,,' 94 ;}}r)a&"tjm&"t Q' 4 Q Ji
QUQ=R | QNQ'=Z | QUQ'=N | QNQ =R ¢ Q:and, Q' dre rational and irrational 10
nuinbeis.then:
i e N . 2
plog2-2logq 5 (logp~logq)2(logp ~logg)2logp - Poicg The value of log(P—J is: =§_uw.’urlog[gj 1
1 ' g g
T .
| 24 2 23 21 (5=3)5+3)=2 12 |
I
. 55 s 2 |
(x=2)(x~3) |(x+2)(x+3) | (x+6)(x 1) |(x+1)(x—6) g IR -iib g |
| The factors of x“ —5x+6 are: i
; : |
: :g{)jl)w p5q2 - pzq5 2l p3q - pq3 |
| 3_3 2 2. 2_ 2 (p— T _ 14 |
] Pa(P"-q") | pq°(p-q) | pa(p’-q*) | Pa(P—q) HCF. of pq-pq’® and p’q? —p2a’ is: |
i =] ?b’nJ’KB——ZixS]lohl/;f:fo ;
] 3 4 =2 -8 Which is the solution of inequality 15 !
' 3-4x<11? !
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_ (Part-1 : i)
Write short answers to any SIX parts. & @Uﬁ/g [.,lmg:.éf =2

B %:H:_zl _2] ?g.uﬁ"q/?’(g/u.,{u;zm:)m_fpg €)

; LT G e 1 ]
Determine whether the given matrices are multiplicative inverse of each other? [3 2 J {-21 B 2 l

S 79
Simplify: S\32x~10y~15 sBax 0y . i)
Simplify and write your answer in the form of a + bi % A F S a+bi A2 g A (i)
Find the value of m: log, 4=0.5 log, 4=0.5:Zr=dfm (iv)
Calculate: log, 2 x log, 81 logs2xlog, 81 & f (v)
Define surd. -G 1 (i)
If x=4-+/17 then ﬁnd%. nér-}wx? x=4-17 /i (vii)
Factorize: 4x* +81 @ 4x* 481 :g{dy,’(viii)

-:’_L‘,lffn‘"’r/'(x—Z)f 3x3 —10x? X> ,,é”ér}vég;cu&}g.i’/ (ix)

Use remainder theorem to find remainder when 3x°® —10x? divided by (x-2).
Write short answers to any SIX parts. @ -Z.‘rol'.lxﬂ? L»I‘Zl{c.gf -3
Find the HCF: 102xy*z, 85x%yz, 187xyz2 @ 102xy%z 85x%yz , 187xyz? :g‘,:r()“"rylgb ©)

. X=3 x-2_ @ ' x-3 x-2 _ . , w”
Solve: 573 =-1 O 5 "3 =-1 _,é(:""‘..{d’ (i
Solve: |3x—5| =4 13x=5| =4 et erd Gid
Define origin. - s (V)
Ify=2x+1and x =3, then find y. : -Q{r:l"yinx=3u!y=2x+lﬁ )

A(6,2),B(2,4) & Bloks B i bfunal 1. (vi)
Find the mid-point of the line segment joining the pair of points: A(6,2), B(2, 4)

Define isosceles triangle. A -;{.@ﬁ&@udw}u (vii)
Find the value of m for the given congruent triangles: :ép‘"‘o{"p{m c,uiﬁ'jt?’fd;(viii)

B5m-3 D m+6c v
N S E 13K 130° i LIKCUsu g L)1 (i)

If one angle of a parallelogram is 130°. Find the measures of its remaining angles.

Write short answers to any SIX parts. -érou:‘!/""? Z:,AZI‘::—JI 4
A
( ~E e 20 1 X0 p# kg aetf A L AD Uk ABC alis-ds )

If the given triangle ABC is equilateral triangle and AD is bisector of
A\ angle A, then find the value of unknown x° and z°.
C

BL
W O o F L e ledun dom st 3em UPULSEbsinE e _n IG5 (i)
If 3cm and 4cm are the lengths of two sides of a right angle triangle, then what should be the third length
of the triangle?

(i) - (/

P X oo
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FED /2%
e el y o x ce UG PQR & (i)
In isosceles APQR shown in the figure, find value of x and y:
Q 6em y R
a=16cm,b=30cm, c=34cm _u:"g‘gm!w-,,xﬂuwqucuméng,fw (iv)
Verify that the triangle having the given measures of the sides are right angled or not: a = 16¢cm , b=30cm ,

¢ = 34cm
5 15 .
eale fAZ A Frti

10cm X

X X 3 2 2] .
Define “Area of Figure”. _gf;'qx/tf“.;;(fuf (vi)
Find the area of figure: 2em 2em :“é(:"‘.}'m}aﬁ?d) (vii)
Sem __ . Sem
Construct a triangle ABC in which mAB=4.6cm , mAC=4cm , m£A =60° (A7 &t ABC &4=(viii)
Define median of triangle. éJ}JJ.:wAL:,ﬁ- (ix)

i 9 /Jlr uY/ 08 LJis /- é/fu“]éuu'} ﬁ ‘ )).J’
Part - I1, Attempt any THREE questions. Each questj ries 08 marks.
Question No. 9 is compulsory\

2x-3y=4; xé \Jéd"—_.»)é//fumu/ (W) 5

Solve the linear equation by Cramer’s rule: 4;x+4y=3
n 25 4n-1 5 4n--1 3
Simplify: (81" -3 = (3)3 (243) @ . @n"-3 2n(3) (243) . £2 ()
(97)(37) O (9*)3Y)
Use log tables to find the “l 0.8176 x 13.64 :é:(d’c;ugfdw(i/{) () -6

Ifa’+b*+c*=35and a+ b+ ¢c=12 then find the value of ab + bc + ca.

Solve by factor theorem: x° =2x* —5x+6 x* —2x%*-5x +6 :g‘,fd’cdf,lf/ () 27
Use division method to find the square root: :éfﬁ”&/u@ﬁ.j.g/é (i)

2

X X y .y
2 0\ @A, rEelml
7 W& 2SS0 (X%l 'y = 0)

Solve the equation: x+%:2(x———§—j—6x x+%—2(x~§J 6x: Z:(:l’”wd’ () -8

S B S EFANEE QG0 L1t PQR 2 (L)
Construct triangle PQR. Draw their altitudes s and show that they are concurrent:
mPQ 4.5cm , mQR 3.9cm , mZR =45°

et e SN L 1 5 gt L si S et 9
Prove that any point on the bisector of an angle is equidistant from its arms.
— OR | -

Jurll/ubj/vu}'/'/cwﬂ/}lC.HG'LUZJ.?&_U{'I“é:f.E'

Prove that triangles on equal bases and of equal altitudes are equal in area.
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Jlbféu,dzuu:..uﬁu;/’l)é’q,;é:_tfé:d!r/;/'d(dm _wé’c_f) D.1CBA aylﬁjlkﬁdlf 7| Ay
s Uiy’ﬁw( l‘ﬂ:ur’JLf j,/ d—ﬂi./ j'! Usimliefl ~&es i c%‘&/zlfo]’b}h‘? 1
K_»_ D C - B A Questions / =iy Y l
\ - Al |
oo v 1l I . e OnABLE 2,0 B |
[ Point (2, -3) lies in quadrant: R
I i
! x>10 x<10 x<10 x>8 :M”'UZGIO‘;“:JX}; 2 l\
i = = |If x is no larger than 10, then: i
l az+b2 (a—-b)z a+b az—ab+b2 . :‘g"biikb/az—abv!-b‘zu!aj%-b} 3 ]l
! H.C.F.of a° +b’ and a* —ab+ b is: |
“ . e So 2 i )
(x ~1),03x ~2)(x - 1), Gx + Dlx + D, Gx 4 2x +1),0x ~2) UOAEEI ~x =2y
| The factors of 3x> -~ x 2 are: T

1 - =2 2 Q+3)2-3)=? 5 |
zV =X yi=z x¥ =2z y*=x 6

. : y=logzx0u£2,:;
The relation y = 10§, plies: |

O
2\[; \/4—1,; 5\/4—2 4% with(l\aq%.‘a'l)sign is: '-CL_rJG\ﬁu‘glJ 4% U
< ) - ]2 — i
"3 5 25 2 5 25 W iU~ ‘ﬂ[o y ] . ‘,
¥ 4 3 i & iy %ditive inverse of \:2 —5} is i
%, v | 1S. i
PR 0 -3 ~ J
(// Lioe 30° oLl e w6 Ledogf IS |
1200 90° 60° ~L\ [\ O300 Snasr S 9 |
i i .~ |Oneangle on the base of an isosceles triangle ‘
=[ } i N _id #-_ |is30° The measure of its vertical angle is: o
| & xe : J&JXJU@\A‘&XCGA Eyzxoﬂq‘(&é}f i A4S KLWISIF | 10 |
| SidexSide |Lengthxwidt asexaliitude |/4xbasexAitiay Area of a parallelogram is equal to: |
| gt A e /C Ut ABC 286 %
‘ 9 N\, </ HDE/ABL D |
BD= J !
18 16 10 5 mBD=__" 1 |
E B 10 C |
i In given triangle ABC, CD bisects £C and ‘
ii l meats AB atD. mBD=___

i AR Ve
! l . S SABLSCD I
| em — — — 0 A=  Ix |
| mO i mOB mOA mBQ A R . m.AQ . T2
l | If CD is right bisector of line ‘
! | segment AB. Then mAQ=___ i
i i . B : o ! 1
: a5t LY J ; S | :ﬁywz_mr,u.ﬂt‘wtw'nmwm 13
| Adjacent _|Complementary| Congruent . Parallel In a parallelogram opposite angles are: L _l
i PR = l - : ~ -4“——(3""db'x“______ -"/‘U‘_&LJ—I}' 14 i
| - The symbol used for congruent is: i
| Noone A line has end points. |
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(Part-1 : i) Fﬁﬁ(‘/’"lé

Write short answers to any S[X parts. ' -"Jogmf”? L,lm‘g;éf 2
If A =l_2' (3)} ,then find 3A. _ E AT A= [_2‘ (ﬂ PG
Simplify: /-64 =64 :ZE A G

: . 3 2.3 o
Simplify: 5% +(5%) 52’ (5% 4 Gid

log, 64=2 :ZEpkeddx (iv)

- p# log32 7 log5 = 0.6990 « log3 = 0.4771 « log2 = 0.3010 /1 ()
If log2 = 0.3010, log3 = 0.4771, log5 = 0.6990 then find the value of log32.

Define algebraic expression. -g‘,i:s_é//:’-d/&’;d/.’él (vi)
Simplify: 5 +3)5 -3) (5 +3)5 =+/3) £ (i)
Factorize: 8x° —27y° 3 —27y? (G AWiiD
Factorize: 2y’ +5y—3 @@ y2+5y-3 &7 (0
Write short answers to any SIX parts. o © _é..-,guz /"f L»I'Zl‘g:.ﬂ/ <3
Find the HCF: 39x’y’z, 91x°y%2’ % 39x"y3z, 91x°yS2’ :_“df_:(;h”r“"’tgl; €]
Solve the inequalities: 4x —10.3 <21x ~1.8 %5 4x 103 <21x~1.8 :EF Ui (D)
Define strict inequalities. @ gy Jlenle g (id)
Write the given equation in the form of 7-3x+4y=0 @l Ply=mx+c fen-d$ Gv)

F=ZC+3 5(F-32) St S8 Al ST s 2 S (W)

° and F° reading will be same if F:—?—C-r 32,C =-3~(F—32)

Find the value of x: log, 64 =2

Find out for which temper:

Find the mid-point between two points: A(3,~7), B(4,2) ~ A(,-7),B(4,-2) :sir)’*,bﬁdyumziu (vi)
Sy PSS (vid)

Define coordinate geometry.
A

ot L Xt m e U S 8 i)
s, A\ Find the value of unknown x and m for the given congruent triangles:
el D amt gty oS LU 130° L L1 (%0

If one angle of a parallelogram is 130°. Find the measures of its remaining angles.

Write short answers to any SIX parts. -ﬂayz/z’ L;mhg:.g}:” A4

c
| U mBL A mAL JxmAB = 66m Jie it FAB 5B CD S G ()
A . B CD is right bisector of the line segment AB. If mAB=6cm then

r find the value of mAL and mBL
D

PN S L} . v
Verify that 3cm, 4cm, Scm are the sides of triangle? -wagw?,wéw Scm « dom « 3em St (i)
Define ratio. i -;’.:4/76@/ (i)
(e—UA) \/
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Find the value of x: y lem — ; Tem :gf’;/r}”.wfd/x (iv)
| FRO-2727

lem lem
. ¢=13cmb=5cm«a=12cm ‘vali’-.«;rﬂl.-‘Gul;uJCMZ’g_:IgEQ’M W)
Verify that a=12cm, b= Scm, ¢ = 13cm are the sides of right angled triangle.
- Sem {itssl 10cm S5 S i u"u”éfr)".u(_,b (vi)

Find area of triangle whose base is 10cm and altitude is Scm.

- 8cm 8cm
I'ind the area of parallelogramZ ; i ; :é{:"’,}';({,wuldﬂ? (vii)
Define orthocenter. LSy JS A T
Construct a triangle PQR: mPQ = 6¢m mQR = 4.5cm ; mPR =5.5cm VA el PQR & (i)

-« 9/Jlr~w/ 08 Ldlr/-c{/fuu:’ﬁumru‘cydi (»,J?

Part - II, Attempt any THREE questions. Each question carries 08 marks.
Question No. 9 is compulsory.

4x-y=2;3x+3y=3 :éIJ‘@’Lﬁ/fU;"Vﬂ () -5

Solve the linear equations by Cramer’s rule: 4x —y =2 ;3x +

(9*")(3") (9*")3Y

Use log tables to find the value: 0.678x9. ‘ 678 x9.01 :éfc,ugfdwf‘?/%’ () -6
0.023%, > 0.0234
_érP;EJXJ + L gexet=afi (O
O % x3 X '

25%% —10x +1-3622: =7 () -7
103 4 37x7 — A0x 4k Ll e g =il k(D)

Find the value of k for which expression will become a perfect square:
4x* —12x* +37x* —42x +k

Simplify: (81)"-3° - (3)""'(243) & ~BY 3 -3)"'(243) | £ ()

Ifx+i=4 , then find x3+—1—3
X X

Factorize: 25x> —10x +

Solve the equation: 3 =2——2}—— , X £ 2 :éd"fwu ) -8
3x—-6 X—2 "

‘mAB =3.6cm, mBC = 4.2cm, mZB=75° d?%f/ytl_ug3ljéuijj!é,t< ABC &2 (L)
Construct AABC and draw its angle bisector when: mAB = 3.6¢cm, mBC =4.2cm, m£B=75°

b S Ui LN B g LS S Gt 9
Prove that any point on the bisector of an angle is equidistant from its arms.
o OR L o

UL S s 5N &P S Gt

Prove that triangles on equal bases and of equal altitudes are equal in area.

b )
N




L. ol

fore

- . Objective Paper
© e ( L/) uJ ~ p
FSD b/ (B S Code
* 15 AF L2420 1= 5193
c-ﬁ&ﬁlﬁﬂ:”&bﬁywwwgﬂw}bmVLJV/{{QVQU! -U!é{—JD 4 CB :A&H&aﬁk&d’rx /{Uly
bbb R B L e SIS S L E A
! D _ | C B A Questions / = Uy ', A’/? “,
&~ S J L :q—Jlkgf 90° 3116 gL |
- . A quadrilateral having each angle equal to 90° is |
B Rhombui Irapezium |,  Rectangle Paraliclogram | cqjled: L
' ™ i Lefi — :q.t'n;ub’dl’}u‘? 2 i
Greater Half Same Different Congruent figures have area.
| st Yaler ~t =’ 2{.?“{&‘; (dx'ld?/)&u;ﬁ;: 3!
| Equality Inequality Proportion Rstio |Equality of two ratios is called:
(2l o 4 B (Bl L a5’ | 4
Parallel Perpendicular Equal Concurrent | The right bisectors of sides of triangle are:
o ' <l v L GIGLL WS |
Concurrent Greater Equal Smaller In a parallel i are:
4 3 2 1 %\ngﬂdm _ amted| 6
In api@ﬂun can be only right angle.
2 ;i ; Y ST E
2l between the points (1, 0) and (0, 1) is:
(oi6d) %\/ ]
FS D O -2- Objective Paper Code 5193
J l; C @ 7P A Questions / Ul RS
y 0.0 ! o 6.1 il (6,9) 3 (<, 0= (0,01 8
(.0 ©.9 ;@j ) ‘'S If(x, 0) = (0, y). then (x , y) is: |
3 0 3 s een )l '2“‘%-"""‘/!"‘:— 9
? x=___ isasolution of the inequality =2 <X <3. )
. 2 -
x+2 _ x+3 ek 4.‘)'%6’: +X-6 s x-2| 10
HCF.of x-2 and x2+x-6 is:
‘ - . 2
(x-1),(3x+2) (x-1).(3x -2) (x+1),03x+2) (x+1),3x-2) .qﬂ}/"_lﬂﬁ -x-2| U
Factors of 3x2 - x -2 are:
! (a - b)aZ + ab - b2)| (a - b)aZ —ab + b2)| (a +b)(a? - ab + b2)| (s —b)(a? +ab+b2) ‘sl £+’ 12
a3 +b3 is equal to: ; ,
0 e 10 1 -ﬁ'—b&(ké ﬁﬂl’ "1 "{qu,f 13 !
The logarithm of unity to any base is:
] 2
ol w | w | W 2 dpadid 5|
Write 47 with radical sign:
3-by-2 -l 1-by2 -2 KAE ALl | 18
i o by Which is order of a square n::;ix? &

913-1X123-90000
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( Part- I J) ddaa )

Simplify: 22 1) 22 —1) g7 (viii)

Factorize: ~ x2—21x+108 ~20x+108  :ZEA  (ix)

Attempt any SIX parts: @@@Q éd’»l? 1’4 &—(3!(
0x+9 e B ik A6 s )
Solve the inequalities: ~ 4x—103521x-1.8 @% 4x-103<21x-1.8 téd’fu Tled (i)
Define strict inequalities. %5 h _EE AU Eb (i)
Write the given equation in the form of y = mx @ 3-2x+y=0 2l RS y=mx+cfebl§lS @)

Use factorization to find square root of: 4x2 -12x +9

Define Cartesian plane. Ey /‘."J UrssK W)
Find the distance between two A(-4,47), B(=4,-3) A4, VT, B4,-3) g ebylend LB (vi)
Define scalene triangle. Sy e iyl (vid)
What is meant by (SSS=5SS) 7 el e (Pl =) (vili)

m° n gf-:,’r:l”‘.:d:’: J n® e m® ¢ y° € X° gﬁg}eé{f: (ix)

750 oLy Find the unknown values of x°, y°, m°, n° in the given figure:

Attempt;:any SIX parts: Ié‘:d'r’?. '{4’.-(3!
2%16 18 gEeed§ x e 0t LNO i MO i gl )

In the given congruent triangles LMO and LNO, find unknown x :

M 0 N
-giyu,gﬁ, -ugu:iqu CMZ.&@UI 7em sl dem ¢ Jem (i)

3cm, 4cm and 7cm are not the lengths of the triangle, Give reason,

(@H17'D)

Attempt any SIX parts: 5{(}"’7 ’ic—é’( <2
1f B=[_}] then ind B+ 3] e[ 3nn=[ 1] 4 o
Findproduct:  [1 2][0] [t 2][ :, éf)"’c}l lod/ (ii)
P it fready  avigeiated x+iy+1=4-3i 125, r,lvw’J yulx (i)
Csimplify:  (3)2 +x3 o WR+x?  EA )
Find the value of x : 10Bg4 X == loggq X = :g{r,%.EJ x
Calculate;  logs 2xlog, 81 logy 2xlogy 81 :gEeied  (vi)
Simplify:  3243:5y10715 5fandy0415 LA (vii)
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04
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04

04

10em 5 g:”r}"a&!y sl x -q_wu?u:d,u..g PQk wuﬁyﬁ!) (iii)

In isosceles triangle PQR shown in the figure. Find the value of x and y:

Q" 6m ¥ y R

Find the unknown value in the given figure: B B c{(""lw’()’”tuftﬁtﬂ) @iv)

-U’UbUL,{C!l/lﬁuhulfl/G‘ c=2.5cm¢b=2cm«a=1.5cm fé):d»" W)
Verify thata=1.5cm, b=2cm, ¢=2.5cm are sides of a right triangle.

Define height of the parallelogram -_{-: - /""d/ QUL uoiSa#  (vi)
State congruent area axiom. -5 sl Ku).szgf L (vii)
Construct triangle XYZ in which: mXY =5.5em , mZX=4.5em , m£Z=90° WU e XYZ &> (vidi)
Define point of concurrency. -,,é 4/7&5’(7 (ix)

U 9 08 Ly ezl et fdd ippadas

Part - II, Attempt any THREE questions. Each question carries 08 ZQuestion No. 9 is compulsory.
) 3x—-4y=4
Solve by using the Cramer's rule: ;: + 2)),, =8 2y 8 d': J LMJ A6 4 S (N

oot o
a?-a") T, a%0 oL (o
A@

3
SO st

Ia _épbuJ -y inxy=21 4 x-y=41 ()
If X—y=4 and Xy =21 then-find the value of x> —y°

Simplify: (a"

Factorize by factor theorem: x> —x*—22x+40 x?=x*-22x+40 ..L{ (j f.”c-u«f $ f:k» ()))

Find the H.C.F. by division method: 2x° -4x*-6x , ¥ +x*-3x’ -3x I,Lf:pl"‘ r‘ﬁilglif..:d 2k ()
1 2 1 2 P

Solve: x+§=2(x—§)—6x X+ —2(x——) 6x g f (D

2ot S L UL Szt ABC & (L)
Construct the triangle ABC and draw the perpendlcular bisectors of its sides:
mAB =24cm , mAC=3.2cm , mZA=120°
-wlnﬁﬁwtéug;uéwgfffg{ =t
Prove that the bisectors of the angles of a triangle are concurrent.
-—- OR | --

_utns! ,u*,;,‘)ucu,omwwducw/w,lc’,wuwc/l//ége

Prove that parallelograms on equal bases and having same (or equal) altitudes are equal in area.
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' / The median of a triangle cut each other in the
. — ratio:
; dngu,; L 7 ConlxE i) ,«crxcuuf J,uxé_u LW 2
N Length x width | 3 (basexaltitude) | Base X altitude Length X length | Area of parallelogram:
. ( = = / ~ , - c_.}:f J=tm ‘!L('_ '." 3
' | , Symbol used for congruent is:
; '( : -‘ct/f-" L;Uf"{/-J’.:L: e S5 4
& f 2 Bisection means to divide into equal
L part / parts.
W, ) ULITuES S mnlpeins s
1’, 3 1 Diagonals of a pamllelogram intersect each
other at poi ints.
R I S 5" / ; / | ,t-;: B 6
; Two parall s intersect at point
: No point points. (\ A
~
(eU) 0%
' A I L o = - @ i -
O;
* ¥ ., Objective Paper Code 5194
~N °
D C m A r Questions / = Uiy \ V- j
i) .3 .
1,-1 ©.1) .0 a.n o ekl 2,2 41 0,08 7
Mid point of the points (0, 0) and (2, 2) is:
v - I I :‘gbﬂéjf_d;—" 2,-3) J;il\ 8 \
Point (2,-3) lies in quadrant:
#341600 liensls ¢ IS MIZISeIL | 9
c¢>1600 c¢<1600 c 21600 ¢<1600 Fih 5 5
e capacity ¢ it
of an elevator is at most 1600 pounds then: |
D e
a+1 a-1 +(a-1) \ +(a+D ¢-OAukt o 2“1\ 10

The square root of a% —2a+1 is:

(a—2b)aZ +2b2)

(a—b)@a+b)@Z —4b2)

@2 -269)(@% +2b%) | (a—b)(a +b)@Z +4b2)

(W f 7Lt - 4ot \ 11

Factors of a% —4b* are:

|
|
\

|
% A0 a+yJb ALs
JTl® | ad® | caeT iy ALK a e b ()| 12
Conjugate of surd a++/b is:
5 n
log(mn) nlogm mlogn (logm)® “Lcct.’w‘f{_’( log(m™) | 13
log(m™) can be written as:
A w5 2 Pif e ] AR
i‘:;‘::rx Negative integer | Rational number Positive integer | Every real number is a: )
3-by-2 1-by-2 2-by2 2-by-1 o T KBl | 15
Which is order of a square matrix?
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(Part-1  Jj4adas) ,
Attempt any SIX parts: : s{ J"’Zlic'_(j j/

Define rectangular matrix and give an example, -éf.:/g..)dk"/vﬁ«.i! f’JJE‘ u‘:p @)
Verify the matrix A =B g] is a singular matrix. ' -c..leLJA [2 4] JG‘G{J%’ (i)
Simplify: 52 +(5H? PP L G
simplify:  Y16%y oy £ )

Iflog2=0.3010 and log 3 = 0.4771 then find log 24 _ér}"‘c,.f J log 24 v log 3 =0.4771 2! log 2=0.3010 P ")

log5 +log6—log2 :édtﬁgfzﬁwb (i)

Write in the term of single logarithm:  log5+log6—-log2

fx=2-v3 thenfmd—lx‘. ”égr’b}""":J %?nx=2—ﬁﬁ (vii)
simplify: ~ (3+Y3)(3-3) (3+vT)3-vF) L i)

e (=2 33 10k 413 -6 S il i @

Find remainder if 3x3 —10x2 +13x — 6 is divided by (x—2) with remainder theorem@

Attempt any SIX parts: @ ég}’;'? ’i:.-(jf
Define H.CF. . %ﬁo _szﬂ/’tfry’)u )
Solve the equation o~ 252 =2 @% EH BB @
Solveforx: [3x-5|=4 @%5 13x-5|=4 :gpbeat (i)

e, J,nm»z&‘_)}u:u:(}%fY=mx+°I2X+3y-1=0oute (iv)

Fmd the value of m and ¢ of the line 2x +3 in the form of y=mX+c¢C,

Draw the graph: x=-6 x=—6 :z__b,._ilf [ )

Find the distance between two points: A0, 2), B(7, 2) AG, 2), B(, 2) :é(PJJU&?»(L@éfé.J (vi)

AR ,~6),BG,~0) gLl Yenbisabic L IUnRL bEY ks (1D
Find the mid-point of the line segment joining the pairs of points: A@2,-6) , BG s=0)

Define congruency of triangles. -{; - /’U’J L?‘Ju}c' (viii)

Define parallelogram. A g @

Attempt any SIX parts: :gf-:d'd?.l{c.-af

Define right bisector of line segment. E St lsE ()

In triangle ABC which side is the largest? ?anﬁtc-u./t}ftjwfy Ufg}f ABC &0 (i)

75° 459

B C |

Define ratio. -gt;y}Jw (iii)
( q—(fllg )
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-2 -

L

&L miP JymiQ=25m Ly mQN=Sem miM=6cm JiMN||PQ % LMN &b (iv)

b g triangle LMN, MN || PQ if mLM =6cm, mQN =5cm and mLQ=2.5cm , then find mLP .

M N p

Scm . .

Find the value of x of triangle PQR: fom “ér)l”;wj J XUk PQR & 2
Q X R

Define Pythagoras Theorem. ?.;'_)'/l[c. 12 (vi)
Define rectangular region. ; -5‘;: - /."JJ Ut&w (vii)
Define centroid of triangle. _EE LSSl ek (vidi)
Construct triangle ABC in which: mAB=4.2cm , mBC=3.9cm , mCA =3.6cm L BABC &L (ix)

-3 5]l 9/.‘Ulr ..uj/ 68 vy -é{fal,b?&c«lﬂrcfcéf cpd g3 s

Part - I, Attempt any THREE questions. Each question carries 08 mal;lg(@?estion No. 9 is compulsory.

2x+y 2x+
Solve by the matrix inversion method: 6;{( + 5y 1 %3 5y=1 d‘f J r_u(}/u’ﬁfﬁuﬂl‘i (I
n 25 4n—]
Use laws of exponents to simplify: 2 3(92 © é A J,Ju: 13 Ves (&)

3 9@ > 3 2 -
Use logarithm to find the value of: & 921 . ;}7\5 ®. 931 ;( 3195) .ér)“"’ c*f..’. c—u(f({b’? ()

-z‘:(k’..«»’d/x 5 :’rx+_—3[ ()

If x+%=3, then find the value o

$¥e S g FPO) = 43 = Tx +6x=3m ({3 x+2 éj_g:;,g/d’ m JEE (L)

For what value of m is the polynomial P(x) = 4x’ —7x*+ 6x - 3m exactly divisible by x +22?

Use division method to find the square root: 9x*—6x>+7x% —2x+1 c",{rJl’”d/’/M Kéﬁ{"w ;’Jl (o)
1(,_1),2_5,1(1 (. 1).2_5.1

Solve: 7(" 6) 376 3( 3") 2(" 6)+3 3 3(‘ ) FAVAC)

Construct the triangle XYZ and draw their medians: :g a-lbesnli_b XYZ & ()

mXY =4.5cm , mYZ=3.4cm , mZX =5.6cm
LB E gL el s

Prove that the bisectors of the angles of a triangle are concurrent,
-- OR | -

I UL MIUnClotlpnd 55 §H7L 1t s50,062 JBIL UGy 0,08 5 LI o
szt

Prove that parallelograms on the same base and between the same parallel lines (or of the same altitude)
are equal in area.
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D C B A Questions / = Uly ot
5 A . 0 :‘c._JJGd,l_/»K ©,n4Q L0581 1
Distance between the points (1,0)and (0, 1) is:
= P = — ‘L\_"r’w(;\j-u’ 2
The symbol of congruent is:
In figure x° = x° = ____uf'..f; 3
1se 105° 90° 75° Txe
75
b oy L 1 _ad/f’u:uﬁ’,@@ e Qoo ) 4
, 4 A is call sector ofan angle if it divides the
Point Line segment Ray Line angle m[mo\@ al parts.
X Lol s > % U'Z,f’r&wid/'/kﬁu%) 5
Range Average Ratio Proportion E@ ity of two ratios is called:
.Y, o2 Lk 3@@9 T Lanl g 6
) e) A rectangular region is the of rectangle and its
Difference Union Complement teSection | interior.
LA NG £ wouiSsls Wuvd,\/ :anu}uﬂfwﬁfuf&@ﬁ-vpﬁ 7
) if three altitudes of a triangle are congruent, then the
Acute angled | Right angled E Isosceles —ltriangleis:
i Jr- 7 . J2 0 8
st s Slws S , :c_tbb‘f...)t? ' 0 V2
V2. 0] iscal "
Singular Scalar Unit Zero [ 0 \/ﬂ &V led ____ matrix.
2
@l b i 519
w | o | W Y, Fes L
‘ | Write 3 with radical sign:
» logp _ q - logq =
log( 5 ] Rite log(p~q) log( p) logp—-logq=___ 10
2 3 4 ! e ___akaralygd | 1
The degree of polynomial 4x4 +2x2y is:
« S e 2 .
x=1.0x+2) | (x=1,3x-2) | (x+1),3x+2) | (x+1),3x-2) QL X -x -2 12
Factors of 3x% —x -2 are:
5 K a3 _ b3 a2 - b2
a? —ab+b? a2 +ab + b’ a+b a-b o Lt 8~ bl a® b 13
H:CF of a2 -b2 and 2 -1 is:
x-2<0 X+2<0 3x+5<0 x>0 -?—UCK%JL__O"V/:;‘FO 14
x =0 is a solution of inequality:
v 1l 1 x e SGALGR 3 B s

Point (-3,-3) lies in quadrant:

11-IX122-85000
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( Part-1 J3 4aa )

Attempt any SIX parts: 1{,{()"'7.’{:_;3:(
Define singular matrix. FM’. P 3o TS -_.é..éj/‘.‘.J..JG'»t ()
xf{*‘},'} bi1:|=[—(:: gJ then find a and b. , -{,:rr)” b s a}f“? bi]]{% g]ﬁ (1)
Simplify and write in the form of a +ib : (2-3)3-2i) (2-3)(3-2i) ’&Ju.‘.‘)(;J a+tib /slé,//‘:? (iii)
Simplify: (x3)? = 2 ()2 + ¥ g‘:://‘y (iv)
Find the value of x : 1086255 = %X loggas S = ;l,‘x ;.—}PQEJ x (V)
Write in ordinary form: 9.018x107 9.018x1076 :éu:r‘.g)r‘i (vi)

[fa+b=5 a-b=17 then find the value of ab. -g!rkt:éJ abja-b=+i7 a+b=5 fj (vii)

6 6 . .
Rationalize the denominator: 5~ 757 NCINGE e b FPrioz F (vii))

Factorize: x2 —1ix -42 @@ x2 —11x —42 é‘fd/? (ix)
%Q ESzgedf

| &Y. e

Find the square root by factorization: X2~ 14— % x5 =lb—s :g";()h‘d/l/jgdy.‘gu,g’ 0]

4x2

What is meant by strict inequalities? . ‘ @%5 ?ﬁ;.;l/gc.—obl//:?bx’“ (ii)
x=3 x-2 » x=-3 x-2
250501 S a2 hr

Attempt any SIX parts:

Define Cartesian plane. » - ;’f_e/-j(,(d:pufjf (iv)
If C=2(F=32%) and F=176" the . L C JF=16 C=3E-29 /i ()
Define isosceles triangle. _ué.gj."g;.:.«l?‘uﬁ’ Vigs- (i)

Find mid-point of the line segment joining A(2,-6) and B(3,=6). _é.f(#,sﬁéwm.&c_é_uf B(3,-6) ! A(2,-6) (vii)
What is meant by (S8S=8SS) ? ‘-"c.)f/gc, SSS ELSS (i)
A . s

ig‘.:(r}"c.‘{d/ m c_..u}'J'JJL?‘ufd) (ix)

Find the value of unknown 'm' for the given congruent triangles:

B C
Sm-3 D 2m+6

Attempt any SIX parts: 5{&'7’4’4—6{
;»»EJ z° 1l « x° -c‘_nfguiu:g}”’fw ~eiftE A ol AD U~ ABC &L= oSl (i)
-

In equilateral triangle ABC, AD is the bisector of angle A as shown in figure. Then find
C  the values of x° and z°.

ceboize QST A CUPUS G boind el SZE 4B Tum 8em o 6em « 100m UELS Ll e iy

If 10cm, 6¢cm, and 8cm are lengths of a triangle, then verify that sum of measure of two sides of a triangle is greater
than the third side.

( U )
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04

-7 -
Define ratio. __54/7&-/ (iii)
State the converse of Pythagoras theorem. F ‘D—q ,. ),L -5‘,{ U.thi’/j Q’J’/Jg (iv)

12 13 12 13
Find the unknown value in the given figure: h h ::ér}’ﬂlﬁfryb’tuf‘ﬁu'{)’: ()
X X

Define area of a figure. ,giqﬁJJ/quf (vi)
- etisnin 6om QLS e 18em? S BEELD i)

Area of a rectangular figure is 18cm? . If length is 6cm. Find its width.
Define orthocenter. ' -_i:._yﬂf/?d)/ (viii)

Construct a triangle ABC in which: mAB=3.2cm , mBC=4.2cm , mCA =5.2cm AU ek ABC &dx (ix)

e S A A 08 Ly gy el aivie 3 cpdga dias

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

375(;_2‘)2,;__?_10 ngl:d’a,uxfu’:‘;’éuﬂﬁ}é_i ?bl/ﬁf'c,u&/uﬁl? (D

Q’h 2x-2y=4
Use matrices to solve the system of linear equations by matrix mvel.m ethod: _5x — 2y =-10

X? a+b b b+c d b+c c+a ( )
Show that ( bj x(x—c) x(}— @ — =1 :Iéut‘ d
X X a "
0.678x9. %5 7 . 2 .
Use logarithm to find the value of: -OTX@% L2 60 (8);39401 :ép"“o{ cud}‘j@ ()
mn + np<\nip'= 27 J,,m+n+p=10‘g>~éryogtfm2+n2+p2 (o)

Find the value of m?+n?+p? i n+p=10 and mn+np+mp =27

e JPlgugd PR =A% =T k6% -3m 2 (x + 20 L b S m s e ()

For what value of m is the polynomial p(x) = 4x> — 7x? + 6x — 3m exactly divisible by (x + 2)?
Sl ()

y2
—y——10y+27 10% Sl (%0, y#0)

Use division method to find the square root of :

2 1 1
Soive the equation: xS X +4 X#=2 g‘{(:""_‘,{dp ()

B2 L gl et ABC & (L)
Construct the triangle ABC and draw the bisectors of its angles:
mAB =4.2cm , mBC=6cm , mCA =5.2cm
_(ﬁd ’J{J’CUJ/L b}b;d’u;nyW’U)Vc,uyébﬁv’rﬂygﬁfé{qL‘
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
— OR | --

~Susale uﬁjmu:f/.l/.(/@/!ﬁ.ulzjlunél;4aﬁﬁ‘gﬁuﬁﬁu.tﬂ> Ul 5‘5 o

Prove that triangles on the same base and of the same (i.e. equal) altitudes are equal in area.

11-1X122-85000
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.:.mﬂﬁn.wawé.,,:zu/x—,utu,;ué.f_,&u:drm{qrqlz LD 4l C B AL iy Ay
-&Jﬁﬁy'ﬁb/ﬁ‘;&/)‘({i—/ﬂ:‘ar LL/JU:]’).:LJ:.-Q LIy A
D ( C F B A Questions / = Uly -
| A ———
The medians of a triangle cut each other in the ratio:
=z vt s e xSl = fCueugi| 2
Area Mass Weight Length of parallelogram = base x altitude.
2 | 3 4 :q_;rﬁleLuég_aﬁ-_u:wJ» 3
L Number of lines, that can be drawn through two points is:
fotas e Bl B LU, 5 1 Sy e S S| 4
i ¥ : { S icd
S — First end Any point Mid-point | Right bisection ofa line segment means '.(_Jfa..gﬁ
to draw a perpendicular gy, of line segmeént.
k o " E L . \J v
T v LAl S| s
Congruent | Non-concurrent Non-congruent Collinear Diagonals of a r@‘gle are:
<& S el : \
3 ; 1 5 - % -FESE el sBSHEn| 6
Two sion:parallel lines can intersect at point(s).
©,0 3,3 3.0 ©,3 &SQQ STl G20 (3, 045 4
A id-point of points (-3, 0) and (3, 0) is:
-1, D (-1 -1,-) a e 00 D Ju =1, y+1)=0. 0. /1| 3
| ~A\S If (x=1, y+1)=(0, 0) then (x,, y) is:
N
{0,3} {0} {4} \> ) :§_¢,{J’Kix-4l=-4 9
Solution set of {x—4|=-4 js:
L I gﬁ& ] a’~b>  a?+ab+b? _9 10
a2 + b2 b-a a+b a-b at_pd a2+p2
. S 2 .
(X+2),(x+3) | (x-2),(x-3) (x+6),(x=1) | Ax+1),(x+6) deﬂ L_x\ Tsé’t6 11
The factors of x®—5x+6 are: _ .0
2b _2a a~b ] | L. " 1
a% - p? a? ~p2 a+b a-b a+b a—t‘)‘—‘»mbfq K
-1 10 0 | -‘C»t‘ﬂ/."l.é ﬁ(j('l'{u‘/lo/r 13
The logarithm of unity to any base is:
. 5 L2y
(2ab)? (~2b)? 2ab ~2ab o0 b+ ) A | gy
Real part of 2ab(i +i2) is:
~ (8 bl[x]_[m
_an-cm _an-cm _an+em _an+cm :"”[C d][)’J—["}ﬁ 1=
Y= ad=be ad + be " ad+be Y= ad<be a bilx|_[m
If ¢ d y| In}l, then:

12-IX122-75000
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Attempt any SIX parts:

Define identity matrix. (1)
Find the product: (6 0][3] , (6 Olm Eeo S @
simplify: V=25 : VLR N (1)
Simplify: 520 L (s2y3 52 (523 g{/"’ (iv)
If log3=0477land log5=0.6990, then find value of log45 . ..ér)".:‘fd’ log45 Jyr log 5= 0.6990 sl log3 = 0.4771 /1 v)
Evaluate: 108512 to the base 2J2 log512 to the base 22 :;J:/r}”.-_-,g (vi)
Reduce rational expression to the lowest form: i?)(; 1: ll)) 2?)(; tll)) ggu:fq’}/i"fg J"c (vit)

4 4 - e
Simplify: §3~/l25 @ §3sz5 547 (vili)
N 2 O st vtenton L5f
Factorize: 25x° +16+40x @ 5x% +16+40x C{L‘/ (ix)

Attempt any SIX parts: %QS éd"’? ’i;—&f
Use factorization to find the square root of: 4X -2+ 9 % 4x% —12x +9 G{r:h’d/bwdf;’u )
Solve the inequalities: 4x-103=21x -1 Ny i\ @ 4x-103s21x-1.8 :eiu"fu?uv/{ (i)
Define strict inequalities. @ : -gidfgfabl/ﬁ;bx;” (iii)
Write the given equation in the form of X4 2-3x+y=0 ’&Guf-'ub/;ury =mx +¢C f.&l:\/«:{b (iv)
Define collinear points. _{‘:(..é_!/-"g(w;biﬂ (v)
Find the distance between two points: AR3,-T1) BG3,-4) AQG,~=1D B@E ,-4) ig{(}’ﬁbﬁ&y/‘vﬂ@éfé.: (vi)
Define equilateral triangle. _g;_g/""fwt/u:omd,u (vii)
What is meant by A.S.A = AS.A? Se e Jofei i fad (viii)

g S L 130° oIk E weui$ gL (ix)

If one angle of parallelogram is 130°, find the measures of its remaining angles?

Attempt any SIX parts: 5‘;&"]'44_61(
Define concurrent lines. ..5{-.-5’/1;1»5’_5‘(7 )
Define proportion. -.'é:-e!/‘-’.J.—/C (i)

-ujuquUJpU"J( 5cm s 3cm ¢ 2cm féabc_gﬁ) (iii)

2cm, 3cm and Scm are not lengths of a triangles. Give reason.
State Pythagoras theorem. -g*:.: ug&u’: Q’J’/‘ (iv)

— GOS0 )I2A6 ¢ = 3dem 1 b=30cm « a = 16cm SEJ4F (V)
Verify that a= 16cm , b= 30cm and ¢ = 3d4cm are sides of a right triangle.

( §—L5Ag )
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Define area of a figure. FBD '41'. 1:_ -_‘é:r_.y/‘.’.diijﬁd(’u’/ (vi)

Find the area of the given figure: 3em :g{ erijdfd; (vii)
6cm .

Define centroid of the triangle. - -é%szw}Lw (viii)

Construct a triangle ABC in which: mAB=48m , mBC=3.7em , m<B = 60° (AU el ABC e (ix)

- 94 Ut 08 £ vy -Efeel eyt S (plgd A

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

4)( + V= 9 4 +VY = 9 . . .
Solve by using the Cramer's rule: -3x _yy - _§x .},y =-5 Ig‘f.{dpcu(fu:’ﬁ'ﬁ/ﬁf ()
a \a+b b \b+ec ¢ \c+a a \a+b b \btc c+a
Show that: (X—b) X(LJ x(z—] =1 [X—J x[-x—) x(x—c) =] Ifés:yﬁ ("’)
X x° x? x® x° x? -
Use logarithm to find the value of: V2.709 x /1239 @/_ :“‘afc..u({dw(zjf:’ ()

-grwng+y+z;nx§ EFIX =59 x4yt 2 =78 ] (L)

If x2+y2+22 =78 andxy+yz+zx =59, then find the X+y+z.
Factorize by factor theorem: X —6x2+3x +10 %5 x* —6x? +3x +10 ng:’/df.“c.,ud/df.:l’/ ()
Use division method to find the square root: @ ~6x3+7x2~2x +1 :ép"’d‘/bk KJZ,‘:;%U% (&)
o
3-5x{ 1 2 3-5x1 1 2 ;
. L 1.2 o, f

B ezt ABC et L)
Construct the triangle ABC and draw the perpendicular bisectors of the sides:
mZA =30° , mBC = 2.9cm , mZLB =60°
- LB L Yyl sl ST

Prove that the bisectors of the angles of a triangle are concurrent.
-~ OR | _.

-Gl S WS 15U G g i o Usilifl SZE ot

Prove that parallelograms on equal bases and having same (or equal) altitudes are equal in area.

12-IX122-75000
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L p c Ii T Questions / o Uy %Lﬁ/f‘
E 1 L:J)KJLU/U&{ }_)G !
| 3-by | [ ~by -3 by -3 3-by-2 _y
" Order of transpose of {0 ‘b:
[ ; e 2 R
l lxy J 2
el [2x- y) [x - 2y] 2+ ) _ S
2
|l Product of (*Y] [-l} is cqual to:
| e e————— L
. b 2 3

35y 35 & 3 G dkbr IS |3
,_‘_ I P - | i 1335 the radicand is:
‘ ) 12
| < 2abi 2abi ~2ab 2ab C"J>JE?E e )/Jﬁ/ 4
‘ ) I 1_7_7_*‘*______________“_MV?*_Re"tl part of 2ab(i- +| @
o . " l -q,rf/ S8 s’ | s
‘_ P T, S S The Iogari}bg&@t@ty to any base is:

o5 oaseds: e Lo
, " ’ W ;L_.,;Jlog[ﬂ] 6
EP ; - q
k logq--logp logp-+ logq = fogp—logq @
t Jogq o _p_ ]
‘\ alue of '°B s: J
= l = I P /

A AR AR I i

cqualio 1a {
Feren ' fl“» “_n . - __,il__ E1 . iLmL P 4x + 3)’ 2 s an algebraic:
. (Qx 4 1;) 1x -()\y + 9y ) T( (2x +3 @& -9 A e d/{_a;:[_ 8x 4 27y s
il o0 ol - W ) W ks
P(2x -3y (4>\ L 6xy +9y%) ] B Factors of 8x3 + 27y are J
l_ T —_ B hs U‘ f ]V 9

- » (1 = q 4 q P

| palp’ a7 ‘ p*a? (p-q) pa (p—a) %) I P A Ty
|

H.CF._Of p‘ q~pq and p q —p q

. 2
{a+1) (a~1) \| + 4 (a4 1) R '/l“?gnhfzaﬂ 19
e ‘The square root of 42 - 2a 1 st

x <10 ‘ x>10 x <10 x>8 ff”‘j/é ‘OV)J ﬂ n
l”)\ is no largerthan 10, then:

esls (%, Y) v (x,0)=(0, y)/ 12

Lo (0,0 (1.0) ©: 1

AL N B S S ,#v,\‘!_fl(&; 0)= (0. y) then (x,y)isequalte: |
\1 5 47 | 0 G_andwK (0, 1) (1,0) b8} 13

" IR A S R \_letanccwpomts (1,0)and (0, )is: |
{ \ _u_'_:'a’._}’zJVuLm L& kgj‘,ufdjl/' 14

i 5 l 4 3 2 The altitudes ol an lsosceles triangle are

' SRR (T SR S J|eongruent.

! WADL % ,_,91)’:)"1? Lz uig$sts UEU'LS:L;" U(r’ J‘o»’U)"JVclb/»JLJJ//‘ 15

i ] . If two medians of a triangle are congruent then the

| Acucangled | Rightangled | Fquilateral | sosecles Jeriangle will be . S
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12

........... T/du r/JLZ

s (duw)(wb‘)'d'pb
60 :f.‘f 2 02:10 12y

| ( Part-1 9 duaa )
Attempt any SIX parts: Fa 0’4’.1’ :9{‘)‘;!2@;6{

at+c a+2b|_i10 -7 o % L, e g
" [c -1 4(1—6]:[3 2d} s /(byufabl/dndm{;’}‘wa dustcebea ()
. : w . . a+tc a+2b|_(0 -7
Find the values of a, b, ¢ and d which satisfy the matrix equation: L ~1 4d- 6} = [3 2d}
2 3 2 3 ’
2 -l [2 - . ii
Multiply these matrices: |} 1 [3 0] 11 13 0] fép"’d’bd,ﬂ’ (i)
0 -2 0 -2 E d

3 3 3 -
Simplify: 527 1 (5%) 52 +(52)3 O (11))
Simplify: 25x10ny8m y 25x10ny8m 5_“:/‘3 (iv)
Find the value of x from the given statement:  198x 94=2 log, 64=2 u&‘:pl”;»ggf X u.'.'obLfG/d; v)
21 S 21x5 J
Write into sum or difference; 108 log 8>< JJ&JQ/LL)‘()/ (/ (vi)

23 _c 4 3 ..
Evaluate%;Lforx=4,)'=—2.l=—1 x=4,y=-2,z=-1 ﬁ‘——ﬂl”v"b(x y 51— (vii)
Factorize: 3x - 243x° Ix - 243¢° Z“:df (viii)

2 2
X +y) —4x X +y) —4x

Reduce the rational expression in lowest form: (_(‘xyiy)—zy ( (X)' y)z . @J‘d#"i@iu"t (ix)
Attempt any SIX parts: Z::J‘;lilic_tjf

Use factorization to find the square root: x? =1+ "4')1(7 (x#0) ‘&@ (x=0) . »’rpL”'d/l;j_pgjf.g/;g (i)
Solve for x : ‘% = %S@ =6 :_ép‘-"‘_‘,n)‘?obv (i)

fine a linear inequality in one variable -C{J/JVI:V/J/JJJ/YJ (iii)
@ ‘?uf’gq.dtujx—wl:o JU(0,0) BIZEJM  (iv)

Verify whether the point (0, 0) lies on the line *1=0 or not ?

Draw the graph of :  y=7 y=17 :é;d.’.@'_ﬂ//&»bt/ (v)

ST Q L e (5, 8) Bk s P, 6) BIK PQ 5 (vi)
The end point P of a line segment PQ is (=3, 6) and its mid-point is (5, 8). Find coordinates of the end point Q.

Define scalene triangle. ; _“Z:uy/?J:A;ClLﬂUh_aB (vii)

C M
mZN=_ méM=__ 5.AABC=ALMN f, (viii)
60° 30°
m\ m If AABC=ALMN  then m£M=_ m&N=_
A B L N

N - =P
y 3 AL 379 110° oA KU IenL St WS35 LMNP AFEE  (ix) -
[ / ' i
(O))
2

The given figure LMNP is a parallelogram and sum of the opposite angles of it is
110°, Find the remaining angles. P

(edde) . ///

/

!
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04
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04
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=7 .-
Attempt:ny SIX parts: m’q,Cu I{,:J';"Z'g:.éf
N - 2y e (P e ot A iy BD U ABC s B LGl ()

If the given triangle ABC is equilaterat and AD is bisector of angle A, then find the values
of unknowns x°, y° and z°.

B ‘ - AN (@ i ¥ ; s * ;
g -éc»u:cuﬁ» -qruf’ol_/’wg!aw&i,bf Tem sl dem « 3em (i)
3em, 4cm and 7em are not the lengths of triangle. Give the reason.
Define ratio. “Ew e i
a=5cm,b=12cm,c=13cm -(_w,:.dj':/’ﬁuﬁ:fgigzﬁ -u}ugHJCU-"M:w S fien (v
Verity that the triangle having the following measures of sides are right-angled: a=5cm,b=12cm,c=13cm
A
1Sem 13cm Find the value of x in the given figure: :é(:”’(j!ﬂ(f X ufa)ﬁ&b v)
B X D Scm c
Define the term "area of a figure". -é@fgf”.}'x(fﬁb"blﬁ‘l (vi)
Find the area of the given figure: " em Ié{pbﬁ/{ygjfd) vii)
Gem )
Define incenter. S S 3t (it
Construct a triangle XYZ: mZX = 6.4cm , mYZ = 2.4em , mLY =90° ((5?/ el XYz el (ix)
A
-G 9 Ay <t 08 Ll Sy Al Ko S pigrdiaa

Part - II, Attempt any THREE questions. Each questionﬂcg@g 8 marks. Question No. 9 is compulsory.

-4

N
4X+2yx-y:_l Zg‘.{gﬁ:—up{gjﬁ’éufﬁ' (o))
Solve the system of linear equation by using the inverse method: 4x 12y =8: 3x — y=-1
Solve the equation for real x and y: %i)(x +iy) =4 +j {_fd’u.f y s x Selpls (&)
L (8.97 25)° B.97Px(3.95° -, # 01 (LN
Solve by the logarithm: @'37 537 -é—fcfc;uu(({ﬁ

1 S . ~
pr=2+\/ 3 then find p2—32~. -.‘ép&’o{(fpz—;—z;’npzz.,”/ 3 Ji (._,)

Factorize: (X+ 2)(x +3)(x+4)(x+5)-15 (XH2)(x+3)x+4)(x+5)-15 si{df" ))

X 0K 375~ 60% 136 sl bt duipitdn ey 5 (L)

Use division method to find the square root of the expression: x4 ~10x> + 37x? - 60x +36

S5(x-3 =
Solve the equation: (x6 ) -x=1 —% ‘SL%Q'—X =] —% :g_fd’fu,v ()

ELAEALLUAL St b, ABC 2t (L)
Construct the AABC and draw perpendicular bisectors of its sides:
mBC=29cm , mZB=60° , m/A =30°
B oI Sslae UJ//L bﬁ,&'ﬁl‘u}néb/__ﬁ_ﬁ/’ l.d»?[.,b.;ggf(ﬂggﬁfécx ¢

Prove that any point on the right bisector of a line segment is equidistant from its end points.
-- OR | -

=& l?ﬂJﬂLﬁqu'JL/aubJ&LJL@./;/?J/WL&;_)UJ:J/;{Q%

Prove that any point on the bisector of an angle is equidistant from its arms.

11-1X121-95000
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c,d_;_t_/:hc}bjl;‘;ﬁfl&fﬁvlﬁuucJu;?l‘véé_:&lzédff/:{(éﬁélﬁ _u_fé_‘fc:_:D s C B tAeUﬁ.'fA:LJ'r/z /'.;U”’
-(nzrzw;_/lﬁuﬁ o c:uy‘d/ L./Cé/ LKL L/z{u:/'bukic;ug -2’:.:)/ 1

D C B A Questions / = ly Aﬁ/
B ETY Y . T
(3x f--U,L9x3-3+--‘;) C (3X-—i),(9X2+3+Jf} A AP ek
\ ¥ X< 1 a X . ] '
o, S S FH e oy T B B
(3x +lj, 9x2 A.H—L] D L3x +l],[9x2+3+—l—) B |Factors of x3 are
X X2 X x?
JodF | Jaad® | aed® | casrdi e depuka s Al 2
- Conjugate of surd 3 + /b _is:
logcmn nlogm mlogn (logm)® —é—(fl@'lﬂ’qf{ o S log(m") | 3
log(m") can also be written as:
cex=2718 5| =
] o 0.4343 0 ex=2.7] ~C. oge 4
loge = where ¢x2.718 :
. pr coay kAL
—2abi 2abi —2ab 2ab : =g 2ab(i+i )/\fg: 5

Real part of 2ab(i + ﬁﬁﬁ

©
and is:

e J\J’.’; A5 |6

asy? 35 - 3 o)
2 In 1@% i
S o~ ey -1 27 [1 0} £
2 2 20 0 2] 22 @ sz xyx'*'[ 0 ~|J={o 1}/! 7
0 2 0 2 2 2 20 \\’& ey
‘ +l 0 —|}=[0 ]J,thenXis cqual to:

ot ¥ Loy ®x§% -‘a.wuf__,u;_/[(ﬁ JT} %

J2
Singular Scalar Unit &i [

0
725 0 \/_2_} iscalled  matrix.

N . B,k
@Y S b Ut 2-30° aliklze bl e dofUIGL | 9
120° 90° ) 30°

An angle on the base of an isosceles triangle ‘.'{_.gﬂﬁf
15 30°. What is the measure of its vertical angle?

e B B e UL sa b sl F L | 10
_ Paraliel Concurrent Collincar Congrueat | Theright biscctors of the three sides of a triangle are:
e 43 Wl (2,2 -2,2) 45
(I, 1) (0,0) (_2’_2) (2‘2) . .-‘Lidd!/)b ( ) /)’( )Lh— 11
Mid-point of the poinrs (-2, 2) and (2,-2) is:
0 Ty =2 L
0.1 2.2) 2.1 (1.2) . .-‘Ld.’lfd’/ré y ?x el | 12
) ‘Which ordered pair satisfies the equation y = 2x ?
" »:,hl/ﬁé eLwe ol Z.(odgc/lkv{'d[s’_—\j: 2L <> s uf(fui_/df 13
(0,1 * -
Incquality Identity Equation A statement “.‘—du‘(-—

involving any of the symbols <, >, < or 2 iscalled:
|

. ; by LPTSL IS
(31) i(xle t[x%_zﬁ“) “i(x-i-—)l(—) e GHuiek g 14

- 4|
£ X +——4-+2i

The square root o s:

e 'l;l;b/ 20.‘(3)/3 3! szyz u,li. 15
H.C.F. of 5x2y? an_d_2_(.)§iy3 is:

12-1X121-80000  /~
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( part - I J J\ 4 )
Attempt any SIX parts: k 42 ’;’ c{d‘;’]lia.d/
if B:[‘z B],then verify that (B‘)‘ =B. (B‘) =L SEJIIB= [2 },]/ (i)
If B=[_ﬂ,then find B+[_ﬂ. __ér}v B«{}} QG?B:[_Hﬁ (ii)
Express (-7 +3i=3+2i) in the standard form a+bi _ZE bt b Gl CTHIN342D (i
Evaluate: %0 _E i )
Express 5.06x10'0 in ordinary notation. _‘-u..(’/rlp;( 5.06x100  (v)
Find the value of x when '08x 84=2 log, 64=2 .55‘.:((!""._4{6/ x  (vi)
Reduce the expression to the lowest form: %;—;X_—;i x—22;-24i—;‘4’ ﬂu:fq}/’fzﬁ (vii)
simplify: ~ (3*+Y3)(3-3) (B+V3)B-V3) g (i
Factorize: 9%y —12x%y +18y? oxy - 122y +18y2 L7 (ix)
Attempt any SIX parts: @ Iéd';l?h?c'_éf
Use factorization to find the square root of the expression: 4x? ~12xy + 9)’ c‘f{)‘”d/'zm&f.ﬂu ()
Solve the equation: %X - %X =X +]g o @' 2; -ei:()b’-‘«:’dpg\:bbb‘ (i)
sove:  [Pi-57% N e i S 1) G )

2 © 1

Draw the graph of X==3 @%S ~2_.(::J|)’K x=-3  (iv)
Verify that whether the point (5, 3) lies on the lig€\ 2ex¥+1= 07 ?J."'g:‘_d"l% 22—y +1=0fy(5, 3) ﬂfg‘f&_’_ﬂ v)
Find the distance between the given points A b (] A(-8,1),B®6, D iérPPUUVJJLLW (vi)
A0, BO. -9 e identbi (vii)

Find the mid-point of the given pai

C

M

5 ._é_{‘,,w_.,g(; x (2t SABC = ALMN Ji (viii)

60°

40° 809 If AABC= ALMN ] then find x :
A B

- Z ok 0l m I Fg LMNE S (i)
If LMNP is a parallelogram then find m, n :

L 8m-—4n M

Attempt any SIX parts: 25‘,{&'2’{&6{
‘ -,ér)”oEJ z° 2l y° e x° ph’t —gm ol A sl AD * ABC wwmwv{u} 0}

If the given triangle ABC is equilateral triangle and AD is bisector of angle A, then find

the values of unknowns x°, y° and z°.

YA l AV %

-3

-4




R L U

04
04

04
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2- FBO42-2)

e bty e QLS T A U IS Wots 2 25 aB F s 8em o Gem « 10em LS E MLl el i
If 10cm 6cm and 8cm are the lengths of a triangle, then verify that sum of measures of two sides of a triangle is
greater than the third side.

Define ratio. c‘:..ﬂ/""u(uy’ (iii)
%gwwwbb,n/uud‘iéuzf& 17 i x e 8 LAVISENIL 2ol (iv)

The three sides of a triangle are of measure 8, x and 17 respectively. For what value of x will it become base of a
_right angled triangle?

X 13cm Find the value of x in the given figure: nér}”c,fJ X uffdfd) ™)
Sem 8cm
Find the area of the given figure: . Aem :_,Z_:‘ry‘"};(y 66) (vi)
. B o )
Define altitude or height of a triangle. SN ke (vl
Construct triangle ABC in which: mAB =2.5cm , mZA =30°, m<B =105° U ek ABC &d5 (viii)
Define orthocenter. - AP ok (ix)

U 94y Ut 08 Livy - felind e trfe dBK cpiys das

Part - II, Attempt any THREE questions. Each question carries 08 m/aglg > stion No. 9 is compulsory.

Use log table to find the value: 0.8176

= "2
Sl udsd s anla Bt (L)
od: 4x+2y=8; 3x—y=-1

G xF-("(24) iz (L)
) w0

@ 0.8176x13.64 ;ggr,ly_;gc,,,wwﬁ@ ()

m’ +n’+p?j,ma+np+mp=27 , m+n+p=10 /] (_)

4x+2y=8; Ix~-y=-1 .
O.

Solve the given system of linear equations by using matrix in

T 81)" x3° —(3)*1(243
Simplify: @®1) (92n)((3)3) ) @%S

AL

Ifm+n+p=10 and mp+

e Sy PO) =40 T 465 3 $ 5 0 L Lo F S m S ()

For what value of m is the polynomial p(x) = 4x* - 7x? + 6x — 3m exactly divisible byx+27?

p =27, then find the value of ;2 | 2 +p*-

Find square root by division method: 4x* +12xy + 9y* +16x + 24y +16 :éf)‘"(‘f/bjg W(fﬂ,gj,} ()

‘ . 2 1 1 . s ;
Solve the equation: 2 T <x 1 XY x1 -ef-"/(}t"wﬁ’u b sl ()
Construct triangle PQR and draw its altitudes: 3252/(6@101/4:—‘/ il PQR &> ()

mRP =3.6cm , mZQ =30°, m£P =105°
LAV u)/ﬁb,ab’,&ﬂw’rdb/wtd;fzibﬁ’u/ Li L ¥ fZ: =k

_Prove that any point on the right bisector of a line segment is equidistant from its end points.

-- OR L ==
-c.t’fJJUl‘j:l/cu»JLLJUwJ//JLLL.)ULf[fc{ul:

Prove that any point on the bisector of an angle is equidistant from its arms.

12-1X121-80000
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, Objective Paper

c.eﬂ)ﬁfu}bw&lvéku»a‘;u:ibé{.:&b&dlm;db’dlz g LéD 1l C B AR Lz Ay
-fwﬂb&,«lﬂuﬁ;ﬂ:«;ﬂfu‘a’&ﬂuﬂw}bo&}e.{' -y AN |
D C B A Questions / = Uy A’/{’
Cw’wﬂ il ‘-"'"j e FUISY ::.BMWJ 0 W'JJLU;'&U‘J 1
Scalene Equilateral Right angled Isosceles | Triangle having two sides congruent is called:
Area of the given figure is: 2:‘_.}'/(& 3’ G2
18cm? 9cm? 18cm? Scm
3cm
6ecm
] , . 3 B AP LSt nl U 3
Proportion is defined as the equality of ratios.
B S o g . téug,uu;f&.sﬁo’( 4
{  Concurrent Congruent Perpendicular Parallel The bisectors @ es of a triangle are:
N .
. S e fdfitungiz| s
2 3 5 4 Di parallelogram divides the
| parajielogram into congruent triangles.
- T TR AT oS,
2zt vy Bl e > gt 2 bGn Il eI/ 1| 6
. . Three points are said to be if they lie on same
Unequal Equal Non-collinear | @ line. -
) a .
(~1,-1) (0,1) (1,@& (1 :%ydy,,r(z,z),,u(o,ouw 7
\‘)\ Midpoint of the points (2,2)and (0,0)is:
L IV i @u i e kUL (2N B 8
Point (2,~3) lies in quadrant.
i Solile L -2<x < aiad x= 9
' 3 0 3 A we ot 2.:«3\/;.'x-— |
i 2 | 3
ll X= is a solution of inequality ~ 2<x <7, ll
| — : |
X+2 x=-2 X+3 x2+x-6 :q_fy!ngxz+x—6an-2u}z|] 10
H.CF.of x-2 and x2 4+ x—6 is: §
(x—1),0x+2) | (x=1),0x=2) [ (x+D,0x+2) (x+1), Gx=2) (A AL I X2 “ 11
| : The factors of 3x2 —x —2 are: |
| (a—b)(a®-ab+b?) C (a-b)@+ab+b?) | A 234 b3 = 12
@iD@+abebd) | D| (atb)@i-ab+d?) |B
100 8 10 0 . -4_’:,«{‘/.5 (5'6’( T 4;[!/10/ 13
The logarithm of unity to any base is:
gl pesfrd 45| 14
@ | ows | | e . VAL 4
Write 43 with radical sign:
rz-by-z 1-by -1 | 1-by-2 2-by-1 e a2 1] 15
[ __4\.- The order of matrix [2 1] is: L
11-1X119-87000
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( Part-1 J3l ks )

Attempt any SIX parts: éd’r'?l{c.éf <2

Find the values of a, b, ¢ and d which satisfy the matrix equation: :u_/(" G’uuf:.blz{ d)ﬁ_ér:“’fz(f duslcbea (i)
a+c a+2b| _|0 -7
c-1 4d-6| |3 2

12 o 53 12 i
lfA=[0 l]thenverifythal (AY=A (A')t=AE£U.’*"””A=[0 ]:I/(' (i)

Simplify and write in the form of a + bi : {;2,— % 2B avvis &7 (i)
simplify: (x5~ (-8x73y?) @Sy 8y A ()
Find the value of x when: 1084256 =x logs 256 = x ﬁggﬂ“’d (,( x (v
Find the value of x when: 108X =2.4543 logx =2.4543 .C‘g{ r)";‘f J x (vi)

) P
x+yP-dxy <€) Sy A2 i)

Reduce the rational expression to the lowest form: x-y) @

Factorize:  X° +3xy2=2x%y-6y3 %G B+3xy2 -2y -6y L F  (ix)
Attempt any SIX parts: @O& é‘frl?'{(_cjf
Use factorization to find the square root: ~ 4x%—12x + 9%5 4x2-12x +9 t_é(:l’ﬂlg:..u&} /- (i)
Solve the inequality: -6<=X ;2 <6 @@ -6< -54——2 <6 g fand (i)
Define a linear inequality in one variable © EV S E oL LA (i)
-g:(()"‘gf’-’J colmBEE S Y =MR+C £3-2x+y =04 (iv)

n line 3-2x +y =0 by expressing it in the form Yy =mx +¢
e Ol Y HI=0 0y (2, 3) BVLIEETA )
Verify that the given point ( 2, 3 ) lies on the line 2x—y+1=0 or not.

Find the values of m and ¢ of

Define right angled triangle. ..5’:.: .é‘/-‘.d/..‘,ﬁ-,,'/"ly‘s (vi)
Find the midpoint between the pair of points (6,6),(4,-2). -éf#’ﬁéyu(uﬁﬁ[. (6,6),(4,-2) 16 (vii)

:g‘.{(}b’ﬂﬂf‘! x s/ m r}"’tc-u;c’gfb.*lf » (viii)

Find the value of unknown m and x for the given congruent triangles:

N
\J‘J‘o
4m+n - Zed S st m e L ngPL LMNE PG (i)
Oy The given figure LMNP is a parallelogram. Find the value of m and n.
L 8m-4n M
(edke)

f’gfﬁ

<3

A, ...
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Attempt any SIX parts: -0
Define bisector of a line segment. -5{ - /U.iﬂtc': B

=3 t‘:ﬂ?.:,él,ld/ C}‘ oot b’u:_‘l,-’g! Loty :.ﬁ‘f.é J 493Ust 8em s 6em « 10em uy’UJ Lu'l!ﬁ.:«liuﬂfl (i)
If 10cm, 6cm and 8cm are the lengths of a triangle then verify that sum of measures of two sides of a triangle is
greater than the third side.

Define similar triangles. -y /’Jucb,u“- (iii)
State Pythagoras Theorem. -9’,: ekl (iv)
X 13cm

Eredd xe P

Find the value of x in the given figure:

Sem "
Define triangular region. -g:'( _?/JJU‘? (vi)
\ . 10cm
Find the area of the given figure: 2L 3 chéfd, (vii)
16cm
Define circumcenter. -5{4}’({?}»/&' (viii)
Construct a triangle ABC in which: mAB=3m , mAC =3.2cm » MLA =45° (LU el ABC als (ix)

69y -t 08 Ly L, feind ey 3 (@i s

Part - 11, Attempt any THREE questions. Each question carries 08 maj @O uestion No. 9 is compulsory.

O .
Solve by using the Cramer's rule: Ax+2y=8 ; 3x-y ‘é\) :,_:{J'c_ud/u!li'ﬁﬁf ()
a

e (3) (35) (%) @) (8) (3) 22 o

Use log tables to find the value of: :’& 2 1640).<820.37 5{()‘” :»3 C—MJJM?ZW ()
O._é(}”u."'ifpz—# /,;P2+é wmp=2+J3 N (&)

If p=2++/3, then find t sofp2+-pl7 and pz—;lz—

Factorize: Xi—y?—4x -2y +3 xz__y2_4x_2y+3 :g{d’j ()

Find the H.C.F. by division method: X*+3x2-16x+12 , x3+x2-10x +8 :g{(ﬁ*p“’bu,‘:@/; (&)

Solve the equation: —%(X - %) + —g— = —g—+ -31—(% - 3X) 2ég}°/oblz ()

Construct the triangle PQR and draw its altitudes: éff/ el et PQR & (L)
mRP=3.6cm , m£Q=30°, msP=105°
B deWislae u:/J: Li.:ﬁ,&'ﬁu;’ng lrgi® b il bﬂﬁffb‘i&—gﬁf .é o

Prove that any point on the right bisector of a line segment is equidistant from its end points,

«— OR | --
s (Ussle LB 1) unduw»&w’(;n;»éuu,mwzdwcuzundﬂ;'cfu,;ww..{:f:éa.v

-Jun/.l/.gﬂ

Prove that parallelograms on the same base and between the same parallel lines (or of same altitude) are
equal in area.
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Objective Paper
Code

L2220 1y 5192

c.uﬂ);tfo/'b.'il-'f&_‘bﬁvteypc_u!u:}béé.:&(fédlrﬁ{q Kz -(JjéC{.:D 4 C B tA.:Ui;Eyédb'/r /.jdl,—
-Mﬂv&u[tcﬂ:w‘u’uy_‘.f gL/M;:;’wu;.{n B I
E D C B A [ Questions / = Uy JF/?,
12
-1 0 -1 2 I -2 -1 - ‘sz Adj | o -
2 1 0 -1 0 -1 0 1 2
Adjointof | o _ 1] is equal to:
| ] [
_4 _s 4 s 25YT |2 |
5 4 5 4 ) = ‘+
=logxn x=logan | X =logha a=log, x 5;”3x="f’, 3
i |If a% =y then i
;' 1 -1 . -7 7 ! (3+V2)(3-V2 )= : [ 4
{ Q 27 (e 2
X+2,x+3 | x46,x-1 | x-2,x-3 X+1,x-6 Q@/a'ﬂﬁx —5X+6| 5
L ] The factors of ,Z X+ 6 are: |
| | -k & ‘e bl 20x3y3 y 5x2y2 | j
i Sxy wo,(sys ‘ 20x3y3 5x2y,_2_‘? Sy, el Y7 s y 6
' ,, & ik H%?\g&( 2 and 20x3y3 js; 1'
N N '\x(;_ A .
[:W,,._: siird | a6Premnd) [T T Sl it 2y 5> < pods | 7
HG-’JJéL;—{‘/\)T '!3 s * . '
l Linear equation|  Inequation I dem'ny/&‘-‘ﬁ Vtﬁfmio@ statement involving any of the symbol e by |
N AN <,>,% or 2 jscalled: !
f T - = : .. |
L0, (2.2) f (2,1) 01y SOyl y=ox chassiy | g |
L ! - Which ordered pair satisfies the equation y = 2x ?
IUNY 0,00 | (-2.- (2.2) S0k (-2,2) 4(2,-2) 15| o |
{I_ | <y Midpoint of the points (2,-2) and (=2,2) is: I'
| Col 4 3 2 idne LLLAL 10
| | ) A ray has end points:
<~} | - 4]
Bl | A s ‘YL lsl ot 11 |
| Non-concurrent | Opposite Concurrent Paralle] | Medians of a triangle are: ]
T pr -
2 | s ) 4 3 e bt A U, et 12 |
l 1' Bisection means to divide into ‘equal parts.
\ —EUF { u,—fl'?..-/l/ -~y = :u_?ifﬂ(j/,!/.ukué:u;‘f';z 13
1 Inversely “ Dlre:tt!y Proportion Ratio Equality of two ratios is called:
\ roportion | proportion |
; ‘ ‘ Area of the given figure is: :q..};(fd{f; 14
| 6cm
[ 3m? ( 18&m? | 36em2 9cm? ' i
.‘ ;' [ 3em ! ,1'
| i |
| | | ) | |
[ AUGE T g , Nl i <« Ot it .,.c..,:r? is |
L lsoscelcu Equilateral | Right angled Scalene A triangle hayi_qutlvgs_i(.Les congruent is called: | j
12-1X119-69000
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( Part-1 Jil4daa )

Attempt any SIX parts: é(f"l'{c-df -2
Define null or zero matrix. -g,{._y /UJEU/‘ (i)
Find the determinant of matrix: ~ C= [i ;] C= [; g] GO e ()
Write the conjugate of —i, el Sy i (iii)
Simplify: (=7+3i) (-3+2i) (=7+30) 3+2) & Gy
Find the value of x : ~ logax =4 log3x =4 il W)
Findthevalue:  logs2xlog; 81 log3 2xlog; 81 Eebned (vi)

Simplify: V21 x 7 x 3 V2u x 7 x V3 4 i
If x=2- 3 then find the value of xi ~gEpedd %in x=2- 3" i (viii)
Factorize: 32 = 75y? @ TSV G )
< ZESzige S

A % 2, IYZT e Pens ()

Solve the equation: Va3 = 3Yx-2 @O& Vox+3 = Wx=2 LSl i)
Solveforx:  |x+2[=3=5-[x+2]| [x+2|=3=5-|x+2] e i x (i)

’3‘?‘% col mBlL L S Y SMXHC 3= +y=0 . Gy
& 0 by expressing it in the form ¥ =mx +c

g A=y +1=00U (5,3) BUVLIEIHS ()
the line 2X=y+1=0 or not.

Attempt any SIX parts:
Find the LCM : 39x7y3z , 91x5y6z7

Find the values of m and ¢ of the given line

Verify that the given point (5, 3

Find the distance between pair o A2, -6),B@3, -6 :_45(#&5&@;(;}3&5@ (vi)
Find the midpoint between the pair of points: A3, -11),B@3, -9 :;{r}"‘ﬁgku(u:izébd (vii)
State H.S postulate. ~EUksrE HS (viii)
P 8
o
\J‘O
4m+n » e d S n sl m e GnEi# g LMNP ) (ix)
‘;',‘,o The given figure LMNP is a parallelogram. Find the value of m and n.
L 8m-4n M
Attempt any SIX parts: éd’,mgc.df
Define bisection of an angle. - /‘U.J;"';:U (i)

-g{yl&: ?q.JCnglzéﬁggﬂ.‘{ﬁ 2cm, 4cm, 7cm ufHL?:}')p(Cuf'l (i)

Explain whether the given lengths 2cm, 4cm, 7cm can be the lengths of the sides of a triangle.

Define ratio. Sl i
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| - @LIM:LM&&@‘@M&M}%&Lﬁﬁdlm'{dﬁjlt LD B Aw}&.&ﬁ?ﬁdlm
il surnf L SNl S ttmsipe -@»-‘

A

l,=., ~ i
| A T R - - e
LB C a B A Questions f = Uy IJFf}
' = hiad h-hxw Lokl f e L‘}zkrﬁ age :Il,u'fu) ;Jéuﬂ‘ T
; | “ﬂﬂ“‘_“_ B L“f'ﬂi aum | Eﬂlﬁclg_lﬂ Paraliciogram | denllilml Mawngmhmtzluqu-tm 90 is
it | L | 2 - datwusiig’| 2
i _ The area of a parallelogram =
iiwhﬁllum..: -;—(BMEMA.I[IW;JE) w'd'h%Lt"IEE'L‘ Width=Lengrh ires of a parallelogram %
—— |
KR ; e I
T —— § | 1 Symbol used Hrsimilasity is: |
s AP i Ll eWﬁLn&ﬂjﬁﬁLuﬂﬁwu” |
- L,ﬁ""“”m“‘ o Parallel | Noteconcuarrent |- lisectors of the sides of o triangle are:
‘ fLe= ‘.f-“ R ' =z )
| L Wl LRl 2zk Lﬁtﬂ*‘—dmﬁblﬁﬂdm?{ 5
| Lusigruent | Nuoencongrisers Men-parallel Lln-c-qu@Qing pa.ralh:lqmm oppasite sides are;
o | : e '
S | Mg , AP @ - o, l‘lﬁﬁuwﬁﬂl;‘-ﬁw.ﬁﬁ‘ﬁf &
::Ec“m_m Noo-colliness ﬁ: Baralied S Paflinear Thm: paints are said o be ____ifthey lie on same
= pat \) s : -
53 " K{@‘ = e j
) . { Distance between points ( 0, 0 Yand (1, 1}is |
L Bl @ I m 1 L LLY (2. 8 g |
T, W Point (2,-3) lies in guadran: 4
| = & 3 _5 -'F-H.J-Ef“ifupﬁ ~2ax< '%‘-:J_Jlr‘,-'_; x= L !
| 2 | ; :
!L - I’T wud. K= 15 & solution of inequality -1 “T + -;-. _!
I . b . NN g % 1’4
i sttt | teanip e e Ul st aial 1t | g0
R 1 o [ A V.OIHCE of o - p* and o? _p? is: A | l
ﬁ thd ae] A6, x=1 A—2Z.%=3 A x&l,x-6 2{.{:’@_.-3?_’}!’4&!11514& 18 !
| s e ] - | The factors of 52 _ X+ 6 nre y |
| 3 4 :
e b | P g (V7 4T )T T ) - i2
' ¢ T I ebelel r'? 23 I‘{U‘Lﬂ'ld’r i3 ’
. a3 The legaritha of unity 1
m =S Math Science-9 FBD-G1-
- ! = " i ‘
- | The value of * is: lj.bmp_
( | ' Type: Bitmap Image
lav2y] |  [2rn-y) [x=2¥] [2x+¥] 4 Size: 929 KB
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| pixels
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( Part-1 Jil Adaa )
VA Atltempt uny SIX parts: %df-sza;r_&/
Dredine singulur and non-singuelar matrix, iﬁ_&fu_?.lgﬂ_l_,ﬁdm; (i
[ 5] a3 FhLEE 2L A
Find the prosuct; [z ]E ) _1J [ 2][ x‘l] _.!,_s:._frf,hﬁ\_ﬂ,l_?f (i}
chedae nddilive identiny, -g;é’b@j@ﬁj&id‘f Cinij
i
! 3 ] L § J a8 B —II {1}
2 1 ‘ } _":____ | - J *L'I.x_',‘
amaalify e i LE y
| lkzb‘lis, .\."':} ?TJ w
CUpEEs I ccbeale notagion:  STOO 5700 ii“';uﬁ(ffuji-* {¥)
Vind the vabue of x when: log, 64 =2

I-.::g; 6d =7 'éﬁng;'EJ“ (i)
fine surds and give an example. Q@_;pvﬁ; #;ﬂ#—_bﬁ_jr";;(p {wii)

sl x2S —=Ms a2 i)
1 i 2 2
Faclorize :;;" =gt '% %&ﬁ _Z;. e _; ilj“; fin)
11 adtempt any SIX parts: % iﬁlqudf 0,
Find MCF.of ;. a* =B, o' b @@ N - "R
Solye $-Tx > 19-2% where xe R > xel 2 9-Taz10-2x '_..{Er.v""g:u" (it}
Dlefine kegpunbiny ,é-éfiﬁdaafl:b-{y;; {ini)

SEAH e m b SR S ey =R fhty =120 L
Find the values of m ond ¢ of the given lie 38+ v~ =0 by expressing it in ghe farm ¥ = mx +¢

g Caitesian plans r'q:-*‘fL-r:"-df‘hJLf%" v}
srefine equblsteral trisngle. 'i‘;a:lfg':-_««.‘.-t«‘-ﬂ.ﬂ?a'ﬂsﬂ (wi)
Tind the midpoin of line segment joining M I3 B{-T.1) _,—,-é;-[-'}"’.k'ﬁ&!fui" B-b ) s M50 g (wli
y La P o & L als .
= feal o wau mean by congriency of triangles? e ad wuuyi’ (vl
Cefine poinl of wisection of o median, il 8 & by (in)
¥ shberpt any SIX parts: 1ggﬁrf.’m€ LLLF it
. e VY e :
Uefime Bisector of am angle. .,.‘—._".'-r; .,ay‘,-"ur._,.wt..—."_gm (L)

- Ll o i .
ol e Fpdbatie. 2om, 3em , Sem UELFESL W G
Explaia whether the given lengths Zem , 3om, Sem can be the lengths of o triangle?

-

Define similar triangles. -{hﬂﬁjdﬁ*‘. (hif)

'f; .'.i'._lj._,rlg )
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Slabs Myllaeoras Theomm &, .,,r‘p....-! @y (i
1 - : = i [— [ i ﬁ aT) Iy
Fiad e vabue of x from the given figure: ﬁf'r’b."": ¢ x r"lyt" W d:" W)
wilne rappubar region. .g,{-..ﬂgﬁvfjujﬁ' (il
Bem
Uil the nrew ol ahe given (gure: / hen ' fé’!frp‘:{,fuﬂjd, {vil)
1
Aine gtk conter of n triapgle. _.5‘,-‘:._# _j"U_J: Al s (i
Jafine controad of a triangle. = -‘*';-i_s',ﬁ"jlﬂ}ff{_’ L8 (ix)

:‘F ;f.ﬁ_’ﬂ Fe

G

‘ s A L 08 e L2 e s (S
Come= 15, Attempt any THREE gquestions, Each question carries -'r ]

[ p—

« Question No. 9 is compulsory. |

o :
Selvs by using the Cramer's rule: -2y = b g 5@ ~-10 :%'J&i&féuﬂi&/zf K}

N o [ e r f rim_ [.n e
SNy 3‘1'3';;'137 xJ,J':n "“"'JET @Qé J_E“T xiri;- xﬂkll -__éﬁf {T;-

£
a

Jae oz tables (o find the valoe: 0
) 537
ﬁe’wﬁgyfﬂbﬁ-hmwa;k A +b =45, atbhrom=] A

“ing the valee of ab+bevca il g H e =1 TP | el

i
'gﬂ,l____-,x ':3"95},;_ 5'-{ [' o, s'—‘--g t;:,&lfd}.qﬁ@ (i)

o
L

_éfﬁ-["‘-"*:’:uf k _;:fl-_sﬁv}fl.f ] TR P L,«L-Ef (x=1) /i (2

fir=1) isa feetor of g - kx® 4 Wy £ 6. then [ind the valueofk.

Fivd the HLCF. by division method: 3 dx* Sie= 1 L —ox 4B 5,&}”’”]‘5‘”[5{1{335: (e

2 | l _ s
v the equation: 9 JE s e L #1l -évpféh"#‘ Gty

Jesstiust o A ABC and draw the brsectors of its angles: é q,i'tiug':ua‘lu‘wl‘%bgﬁﬂﬂ&ﬂ Ly

mAB =4.6cm , mBC =35m . mCA = 5. lem

-I'mf bag B b S 8l g Pt el Sl Lt i bngl_f'x";fé—‘f‘:

owe ot any point equidistant from the end peints of a line segment is on the right kisector of it

- JUJ‘TJ::‘J:{)’:JJ#!UHJLCL@J sl s E?: Juf'?& d’.‘f."é{ e b

dove that triangles on enual bases and of egual shiitudes are equal in srea.

11-1X118-84000
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{ Part-1 J‘,l-h-:.)

FRD-G2-g-1g

Aatempt sy SUX parts:

Tefine maliix

J:;;rag-é,é-" I

E Al 1)

o a =l -2] w | 8 7] g ) - e
1 ;.: -‘!,m EE_ - ﬁ mgn_ﬁ“d ]l‘l i‘H‘ _,f;rjh'm—lﬂﬁeﬂ=l:_g H] 2 A;[lj ZJJI’ '“il
Tafie real mumbers _£J ﬂ’pllf: (Eii
BT v il'.‘-' E‘é_)l-" ;Pg )
Iz pross enaciennfle pokakicns  O.006<43 Q0060 % gui";}d"k‘ i
Write e the Borm of sisgle bogarithm: 023+ logé—log 2 log$ +logh—log2 &JLJ.‘LFQ?'E{H‘;.'! ()
Liztine polyaodnial, ; éhu_,-{j;lﬂ?a L {wit)
Tatiet ize the denvminanss of ,5 T;q.!“ _?-_;,':-#tf:,#fu: e —;—:—i- (wiii b
S T e o “: ‘ﬂ! -+ .I:l = | \,: ”" + ;‘u = I :‘;:_‘d'_: II
Aliempt any SIX parts: ©<i® éﬁl?ﬂ{;é '
i the LO 3. by factorization: J‘Jx"y‘z . 'El‘lx‘]‘r'y&z.' % : M~ yz' |r“Juh-"1Mﬁ-w fih

Lielime eque vifenn egqualions. @ L J;'Juflwu {1}
wof g H+¥l=11 Q/}S 3% =3|=1I *__;l{,___'* {iiE)
BT B SR praph pager O@; _5’*_",{1&;‘;:1-‘“,-'? (=3.-3} 4wy

e N FyemEer 1o =0
Fenad e vaines of mopmd g of 3—2 oy ui{:rl:ﬁmb:b: ;l;rmf;:‘:ifd: s o
Srefivg mme-collinear poinis, .#Jﬁjﬁh P

n"f‘" A h-"-rﬁl 3 53 TS {_}h.r' L
“iid ilsc mic-paint of the ling segment joiminy P o rpumlv' ATH,G) B, ~27,

Slaks SAS, postulate.

Ve the valee ofm and n i paralielograns LMMNE

4oy + ﬂ/
L

e mlB o mAL e mAB = 6em | o _son gy B
CD i= right bisector of the line s-agmml .m If maAR = tom . then find th

Attewrgd sny SIX parts:

b b iven figure, O

“ErP I bk m LSNP e S

AlG,6) B{4,-2]) Wil

-i—.{u'kd.r‘}“ -;._,.'il .f.r_L_.':' (vl

(IER]
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Defene nluse angle trigngle, F:B D'q -9 plg " {Jjﬁé—ﬂfﬂﬁaéﬁ iy
Cheling similar trinngles. ST N

Pl W value o % in the given Mgure;

Eekedl 2 BT aw

YT SO [ R
Heale Pythagoras Theorem.

&= 5cm , b=1Zem |, o= |3em xg.,:lﬁ:ﬁ‘.:i’*,fﬁﬂ'ﬁ _hg.;FZbuE'H Lenlate
Verify thut triangle having the given mensures of sides i right angled:  a=%cm , b= |2em » &= 1dem

Liefine e rectangilar region, -g,i'_gﬂfjmd:“ ’ {wii)
Fonstract nriangle ABC in which:  MAB =3.2m , mBC =4.%m o MCA = § 3pm ek ABC 2 fuiii)

Lefine dicemter ol the Lriangle, -‘if_gﬂfﬁ'}.;}mni;-%‘» (s}

s Q,}m:b:g‘,ﬁé.mux.{u{;ﬁarmﬁ_ﬁﬁ'ﬁ oy ';J‘f"'%- -L:ﬁ:’,.f_é. = B

Prove that trinngles on equal bases and of equal altiudes are equal in area.

1 2-1X118-66000

T y—— - . PN
E V 7 b 7 3 -: il 3 - Q - N —l
- S e o 08 L b vﬁaf.:yﬂig@@&&@ PN |
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